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General Instructions to the Examinees:

fa

1.  Tenef TageH 91 U3 99 W Ak iferdd: fag |

Candidate must write first his / her Roll No. on the question paper

compulsorily.
2. Oft T FwA afed ®
All the questions are compulsory.
3.  YHE U K S & TS IWR-Yew H & ferd |
Write the answer to each question in the given answer-book only.
4. U wHE 239 24 H e fokeq § |
There are internal choices in Question Nos. 23 & 24.
5. U AR 2¥ 57H Al TS § |
Question Nos. 2 to 5 are Very Short Answer type questions.
6. 59 797 % T ¥ ifyw v €, 39 9t 9rl 1 T T Wy Haq fag |

For questions having more than one part, the answers of those parts

are to be written together in continuity.
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7. WHHEN 1H 4 9 (4, il, @i d9 iv )T | TAE 9 % 9R faewed I, 9@, |
IR T ™ ¥ | Ul SR Skt B FEER difast s S
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9 shilich e ST T TSR
Question No. Correct letter of
the Answer
1. (i)
1. (i)
1. (iii)
1. (iv)

1. () =g H Geia ( SIHW ) 9 Fseh 769 ( HRETeEY ) * SAud ©

(31) 1:1 (d) 1:2

& 2:1 (R 4:1

The ratio of genome and karyotype in human is

A 1:1 B) 1:2

€ 2:1 (D) 4: 1. =
(i) o7 STER ¥ YA Yfeamufay ad §

(31) HEee ( Co 80 ) qem Hifs@H ( Cs 137 )

(F) HEe (Co 0 ) qun Ul (Au 198 )

(@) =& (Co 80 ) qen {feram (Ga b7 )

(T) THITEH (Tc 99 ) qoM A™SH (1131 ),

The radioactive elements used in the treatment of tumour are

(A) Cobalt (Co %% )and Cesium ( Cs 137 )

(B) Cobalt (Co % )and Gold ( Au 198 )

(C) Cobalt (Co %° )and Gallium ( Ga 7 )

(D) Technetium ( Tc 9° ) and Iodine (I13! ). %
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(i) U T F AT wEt weH ®
(31) fuar qui, A 9=
(9) fyar guiy, AT aER
(@) fuar g, 9@ 9w
(7) fuar 9=, Arar gom |
The correct statement for colour blind daughter is
(A) Father colour blind, Mother normal
(B) Father colour blind, Mother vector
(C) Father normal, Mother vector

(D) Father normal, Mother colour blind. %
(iv) et X H UIGY 1 A9 91 HicH Y § TIE Tehallss © :
Hicd X HiAT Y
(P) oT®M () FRHRIEEA
(@) @t () A
(R) 3Tgeien (iii) FHLHTHEA
(S) T (iv) | |
Tk Gl 1 el HA ®
P Q R S
(37) ii iii i iv
(F) i iii ii iv
) iv i ii ii
(®) i jii iv ii.

The plant name is in Column X and main alkaloid is in Column Y

Column X ColumnY
(P)  Opium (i) Narcotine
(Q) Turmeric (i) Nicotine
(R) Ashvagandha (iii) Curcumin
(S) Tobacco (iv) Somniferine.
The correct sequence of matching is
P Q R S
(A) i iii i iv
B) i iii ii iv
QG iv i ii iii
(D) i iii iv . >
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2. ‘e fagra’ 1 gfqued A 9l d=itenl % AW fafen |

Write the names of scientists who propounded 'chromosome theory'. %

3. Tl Afys dun it § %9 aut arel yeu | fRd YR & g8 U W § 2

Which type of trees are found in the regions where rainfall is more in

. . 1
winter and less in summer ? 5

4. Mg H HR fawma w1 Uz & fou feg giasife =g &1 ST fean S
? 2
Which transgenic animal is used to understand the development of

1

cancer in human ? 5

5. TEH Yo HTH A AG & G P HHIRE HIRX B M F HRU SHHT
Sael S ¥ T gaa § | dyrfad A 1 A FdRy |

A person’s jaw does not open properly due to hardening of jaw

muscles, who is habitual of taking Gutka. Give the name of probable

1

disease. 5

6. Y T R &t =Aar § 3o faer ( fagm ) w1 am fafen |59 faer & 9@
AT AT, |

Name the syndrome produced by deficiency of Y sex chromosome.

Give two symptoms of the syndrome. % + % =1

7. H19 Her uiikftafas 93 § Sufd @esta &1 Tmifed fos sAEe |

Draw a labelled diagram of food web present in the grassland

ecosystem. 1
8.  TTHUA U SR F1 AT T ?
What do you mean by Interferon ? 1

9. T IR H ‘SN’ fFE wed € ? fodt uw foe usel 1 AW fafen |

What are ‘fries’ in fish production ? Write the name of any foreign

variety of fish. % + % =1

10. ‘el 1 TSN’ FHEA 9 Ued &1 d7ies 9 fafew | e uey & ol o
Haiferes WA Tt St € 2

Write the scientific name of plant which is known as ‘king of pulses’.

The seeds of which plant contain highest amount of protein ?

1,1
5 =

N
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11. THEI % %ol H gfg @ AR 81 Wl & g a9 T8 &1 foskm &1 81 @1
T 1 7 fomm ¥ T o e |

Tomato callus is growing continuously but root and shoot are not
3 1
=1

developing. Give your suggestion for their development. % +7 =15

12. foag Scafteds fF8 w5 € ? S0 991 ST9EeH TR & fag scaftads &1
e Y@ras IR |

What is point mutation ? Draw only the line diagram of Transition and

Transversion types of point mutation. % +1=1 %

13. 3fad w0 ¥ fier mefes o I i g1 6= 3 9 1ey gfg | 3H 9
YTel hl HHRU FHABTY |

Explain with reason the effect on plant growth on irrigating by water

which contain appropriate quantity of nitric acid. 1 %
14. fafercn fagqm =t dF deoeienl & M fafey fomd xfo 1 v fean St

g

Write the names of three techniques of Medical Science in which

X-ray is applied. 1 %
15. o Haud § o779 @ e § 2 Hafdd o yeEmm § st Uk Hieds ud

TG FgM 9HemsT |

What do you mean by organ culture ? Explain one problem and its

. Lo 1 1 1 1

remedy for implantation in cultured organ. gty t3 =15
16. UIGUHI & T H TIMNIRG H d Jd I TSR0 HIT ¥ A o G

St |

Give your two suggestions to hardening the plantlets before

establishing in the field. 1 %

17. 9vifaaa & =@ & 9Rwifya i | g o faom ad < eTgvret asfo

ELIELU

Define the law of dominance. Give two recessive characters found in

man. 1+5 =15
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18. THIheeR q1 dshoe) ¥ 1 <R faf@u | I=qd & T« W WA a1l & &I

aies =9 fafeg |

Write two differences between Apiculture and Sericulture. Give the

scientific name of insect which lives on mulberry leaves. 1 + % =1 %

19. T gy o1 ¥R ot 0% 9 W 3 gwfq oo sifyeR o )@ 8 | 9o Tefd
FRuH R ai @ (14 14 ) danuei W IR T O (10 1° )T 1 TN
T H IR ER T O (10 1O ) AN UH FERR T T (1A 10 )7 |
SUH @ st st Feraar 9 Ry & arafas qrar-faar Jarsy |

Two couples are claiming their right on a baby whose blood group
is O. In the first couple the man’s blood group is A ([4 4 ) and
wife’s blood group is O (I° I1° ). In the second couple the man’s blood
group is O (I° I° ) and wife’s blood group is A (I# I° ). Find out the
real parents of the baby with a suitable line diagram. 1 %

20. =1 T & WSS &1 S 9 fafee

(i) g |
Write the scientific names of pathogens of the following diseases :

(1) Cholera

(i) Naru

1 1 1 1
(iii) Gonorrhoea. = + += =1 7

2 T2 T2
21. wHA = 9 YR R AIE 7 ? fafyd wEa &1 99 w9 fou 9r gema
e | fafya waa qeon fafya wft 9 o fafea |

What do you mean by crop rotation ? Give four suggestions for the
selection of mixed cropping. Write the difference between mixed
cropping and mixed farming. 1+2+1=4

22. W Ho@d fd #ed § ? Weie Godd g1 Gl hifsren o =)
Tsranfaty wagmeT | gfshan =1 Iugh AHifhd = MET |

What is protoplast fusion ? Explain the mechanism of formation of
hybrid cell by protoplast fusion. Draw the suitable labelled diagram of
the procedure. 1+42+1=4
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23. S TAT (DNA ) & Yfaey o AHifhd fag I | € T T & q9™ied e
o ATOTfereh HTEAT hi HHHARY |
SRE]
Hueed gN fohd T fg-Heht G0 WA % F o, Wl q% & IO H IHH
SR TH = WS g1 WHIAEY |
Draw a labelled diagram of the model of DNA. Explain chemical
organisation and molecular structure of DNA. 1+3=4

OR
Explain the results of Mendel's experiment on dihybrid cross up to F,,

generation with the help of suitable example and checker board.
3+1=4
24. ‘TEEHRIfEET W w1 AT Sl & oT=id 9o Hifeg :
(i) TS AW
(i) HRHU
(ii)) TT o IR AL
(iv) UHYM T ITEAR & IR 3 |
YAt
‘a1’ I (e ) W Freifwd i % s vl wif
(i) IS AW
(i) HRHU
(i) TT o IR AL
(iv) UhYM T ITEAR & IR 3H |
Explain ‘Hydrophobia’ disease under the following titles :
(i) Name of pathogen
(i) Infection
(iii) Four symptoms of the disease
(iv) Four measures for prevention and control. 1+1+1+1=4
OR
Explain ‘Tuberculosis’ disease under the following titles :
(i) Name of pathogen
(i) Infection
(iii) Four symptoms of the disease
(iv) Four measures for prevention and control. 1+1+1+1=4
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